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GOVERNMENT COLLESE/ERSITY, FAISALABAD

Part 1% Annual 2016
Course Title: Business Statistics & Mathematics
Maximum Marks: 100 Pass Marks: 40%

B.Com
Course Code: BCO-Al11
Time Allowed: 03:00 Hours

Note: Attempt any five questions. All questions carry equal marks. Attempt at least
two gquestions from each section.

Section- 1

Q No. 1 The height of college students are given below:-

Height 57-59 60 -62 63 -65 66 -68 69 -71 72 -74
No. of 8 15 27 18 19 3
students

(a) Calculate Geometric mean.

(b) Draw a Histogram.

(c) Calculate Variance and Coefficient of Skewness.
Q No. 2 (a)The price of wheat is given below. Compute the chain indices using 1991 as base

year:-
Year 1991 1992 1993 1994 1995 1996 1997 1998
Price 112 124 130 160 160 172 240 240
(b) Find out the regression equation Y on X and correlation for the following data.

X 100 150 200 250 3000

pd 155 175 215 235 265

Q No. 3(a)An integer is chosen at random from first 100 integers. Find the prabability that the
integer is divisible by 8 or 12.

(b) A sample of size 3 is to be selected without replacement from a population 0, 3, 6, 9 and 12.
Find the sampling distribution of the mean. Also calculate mean and variance of the distribution
and verify the results.

Q No. 4 (a) Define sampling. What are its main advantages?

(b) The results of the use of two drugs of a disease are as follows:-

Recovered No Change Died
Drug A 40 18 12
Drug B 50 8 7
Test the association by using Chi- Square Test.

Section 2

Q No.5 (a) Obtain the sum of all first 1000 integers which is neither divisible by 2 nor 5.
(b) Find three consecutive numbers in G. P. whose sum is 26 and their product is 216.
Q No. 6 (a) Find the compound interest on Rs.27000 for 4 years at 5 % per annum.
(b) Solve the system of equations with the help of matrices

2X+Y+Z=1

X-2Y-3Z=i

3X+2Y+4Z=5

Q No. 7 (a)Find two numbers with sum equal to 16 and product is 60.
(b) Solve the following equation
X2+15X =50
Q No. 8(a)0On a cut price shop, the price of book was Rs. 450 which is 30% less of the original
price. Find the original price.

(b) Solve the set of equations

X+2Y=11, 2X-3Y=18
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Note: Attempt any five questions. All questions carry equal marks.
Q. No. 1
a) Write a note on CPU. Also discuss the functionality of major parts of CPU. (10)
b) Write note on following types of computers. (10)
(i) Analog Computers. (i) Digital Computers (iii) Hybrid Computers
Q. No.2 _ )
a) Different types of computer memories are used to store the data. Write a note on Cache
Memory. What is its purpose? (10)
b) Differentiate between Primary storage and Secondary storage. (10)
Q. No.3
Define Data Communication. What are the basic elements of Data Communication? (20)
Q. No. 4
What is meant by booting process of a computer? What are different steps of booting a ;
computer? (20)
Q. No.5
a) What is computer Network? Write major advantages computer network. (10)
b) Differentiate between Peer-to-Peer network and Client-Server network. (10)
- Q. No. 6
a). What is meant by data processing? Write a note on data processing lifecycle. (10)
b) Write the advantages of data processing in busincss organizations. (10)
Q. No.7
Define computer languages. What is difference between procedural and object-oriented :
languages? (20)
Q. No. 8
a) What is an internet? What services are provided by internet. (10)
a) Write a note on search engines. Write at least three popular scarch cngines. (10)
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Note: Attempt any five questions. All questions carry equal marks.

Q.No.1: Critically examine Marshall's definition of Economics? (20)
Q No.2: Explain consumer’s equilibrium with the help of Indifference curve and budget line?
(20)
Q.No.3: Explain the difference between the following terms:
i. Contraction in quantity demanded and fall in demand
ii. Extension in quantity demanded and Rise in demand (10+10)
Q.No.4: Define elasticity of demand. How is it measured? ' (5+15)

Q.No.5: What is perfect competition? Explain firm's equilibrium under perfect competition in
the short run? (4+16)

Q.No.6: State and explain the Marginal productivity theory of distribution with the help of
schedule and diagram? (20)

Q.No.7: Define national income and explain the any two methods used for the estimation of
national income? (5+15)

Q.No.8: If Qd =5 - P? and Qs =2P -3 are demand and supply functions respectively. Then,
find Elasticity of demand and Elasticity of supply at equilibrium price and equilibrium
quantity. ' (10+10)
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Note: Attempt any five questions. All questions carry equal marks.

Question # 1 A sold goods to B for Rs. 50, 000 and drew on B a bill for the amount at 3 months. A
endorsed the bill to his creditor C. C endorsed it to his creditor D. D got tne biil discounted by his bank at
12% p.a. On maturity, the bill is dishonored and bank pays Rs. 50 for noting charges.Pass entries in the
books of A, B, C, D.

Question #2 On 31st March, 2011, the Cash Book of Mr. Agqeel shows Rs.33, 436 as bank balance. But it
does not agree with the balance as shown by the Pass Book. On comparison, you Find the following
discrepancies:

(1) The payment side of the cash book was under cast by Rs. 400. ,

(2) A cheque issued for Rs: 524 on 25 th March, was recorded in the cash column of the cash book.

(3) A cheque of Rs. 600 deposited was recorded in the cash column of the cash book.

(4) On 20th March, the debit balance of Rs. 6, 104 as on the previous day was brought forward as credit
balance.

(5) Of the total cheques amounting Rs. 46, 056 drawn in the last week of March 201 1, cheque totaling Rs. 31,
260 encashed in March.

(6) Dividend of Rs. 1, 000 collected by the bank was not entered in the cash book.

(7) Trade subscription of Rs. 400 paid by the bank was not recorded in the cash book. -

(8) One outgoing cheque for Rs. 1, 400 was recorded twice in the cash book.

Prepare a Bank Reconciliation Statement with the help of revised cash book as at 31 st March, 2011.
Question # 3 In taking out the Trial Balance the accountant finds that the total of the credit side exceeds that of
debit side by Re.2.410. He places the difference to a suspense account subsequently detects the following
mistakes:

(i) Stationary purchased for Rs. 890 but debited to stationary account as Rs. 980.

(ii) A sum of Rs. 650 received from Alain was credited twice in his account.

(iif) Wages Rs. 250 paid to installing a machine ware debited to wages account as Rs. 520.

(iv) A sale of Rs. 350 was entered in the purchase book as Rs. 530 but customer’s account was correctly
debited with Rs. 350.

(v) A sale of Rs. 1, 000 to Fawad was credited to his account twice.

(vi) Old furniture sold for Rs. 6,000 was passed through sale book.

Give the rectifying entries and prepare the suspense account.

Question #4 Enter five imaginary transactions in Journal. post them in ledger and prepare trial balance.

Question # 5 Write short notes on:

(i) Cash discount and trade discount.

(ii) Fixed installment method and Diminishing balance method of depreciation.

(iii) Work sheet and income statement.

(iv) Capital expenditures and revenue expenditures.

Question # 6 Ali and Babar are partners in a firm sharing profits and losses as Ali 3/4 and Babar 1/4 on
January, 2011 their position was as given below;

Assets Rs Liabilities Rs
Plant 80, 600 Capital Accounts:

Stock 20, 000 Ali 100, 000
Debtors 60. 000 Babar 60, 000

Cash at bank 40, 000 Sundry creditors 40,000
200. 000 200. 000 ﬂ T—0







